Review – Direct and Partial Variation
Name: ________________________
	n
	m (kg)

	0
	0

	2
	0.5

	4
	1.0

	6
	1.5

	8
	2.0


1. The table of values below shows the relationship between the number of bananas in a bag (n) and the mass of the bananas (m in kg). 

a) Is the relationship linear or non-linear? Justify your answer.

b) Determine an equation relating the number of bananas and the mass.

c) How much would a bag of 19 bananas weigh? Show your work

d) If a bag of bananas weighs 6.5 kg, how many bananas are in the bag? Show your work.

2. The height of a plant (h in cm) depends on the number of weeks after it was planted (n in weeks). The relationship between h and n is given by the equation 
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a) Does this situation represent direct or partial variation? Why?

b) What are the initial value and rate of change for this situation? Include units. 

c) What do the initial value and rate of change represent in this situation?
d) How tall is the plant after 12 weeks? Show your work.

e) If the plant is 80 cm tall, how long ago was it planted? Show your work.

3. You start with some money in your bank account and deposit a fixed amount of money every week. The graph shows the relationship between your bank balance (b in $) and the time (t in weeks). Draw a line/curve of best fit on the graph for each of the following scenarios. Clearly label your lines.
a) someone starts with the same amount of money but deposits less each week
b) someone starts with more but withdraws money (takes money out) every week
c) someone starts with no money and deposits a large amount of money each week
d) someone starts with a negative balance and deposits different amounts each week
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4. Complete the table for the three linear relationships. Use a separate sheet!

	
	SITUATION A:
A phone company charges a flat fee of $10 and $0.15 per minute
	SITUATION B:

You start with $1000 in your bank account and withdraw money every week. After 5 weeks your balance is $737.50.
	Time (s)

Height  (m)

10

50
15

65

25

95
SITUATION C:


	Variables
	Time: t       cost ($): c
	balance ($): b       # weeks: w 
	time (s): t      height (m): h

	Rate of change (include units)
	

	
	

	Initial Value
	

	
	

	Equation
	

	
	


	ANSWERS
	1b) m = 0.25n
	1c) 4.75 kg
	1d) 26 bananas
	2b) roc=1.2 cm/week

	2b) IV = 10 cm
	2d) 24.4 cm
	2e) 58.3 weeks
	3a) same y-int, steeper

	3b) higher y-int, decreasing
	c) through origin, steep
	d) y-int below origin, non-linear

	4.A)  c = 0.15t + 10
	4B) b = -52.5w + 1000
	4C) h = 3t + 20
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